addazay
S1. Ans. (c)
S2. Ans. (d)
S3. Ans. (c)
S4. Ans. (b)

Sol. 16+ (16 —14)=18,27+ (27 -23) =31

S5. Ans. (b)
Sol. V100++/36 =16

S6. Ans. (a)
Sol. 1 X2+1=B,xX9+9=117=x=112

S$7.Ans. (a)
Sol.2+2+9=9+-9+9

$8. Ans. (¢)
Sol. 2n term is obtained by dividing 15t term by 2

$9. Ans. (b)
Sol. 72 +3=52,17"+3 =292.

$10. Ans. (d)
Sol. In each term the first two letters are same, and difference between last two letters is one.

TEST SERIES
S11. Ans. () Bilingual @
$12. Ans. (b)

$13. Ans. (d)

Sol. The pattern is +2, +3, +4, +5 D M R c c R A
$14. Ans. (b) 2 01 9

Sol.v4+2+1+2=3
$15. Ans. (a) 10 TOTAL TESTS
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$16. Ans. (a)
Sol. The pattern is +5, -2, +5, -2

$17. Ans. (d)
Sol. The pattern is +27, +27, +27, +27

$18. Ans. (b)
Sol. AE>D=C=B

$19. Ans. (c)
Sol. 6°=216

$20. Ans. (a)

Sol. 21+1=2+20,
Similarly 2+43=x+5
So x=40

S$21.Ans.(b)

Sol.

M N 0 L S H U F
- -2

$22. Ans.(d)
Sol. +3 Series

$23. Ans.(d)

Sol.
15-6+10=x3 + 2
=>15=x6<+10-3 +2
::»15::,—1—372
=9-3+32

=8

S$24. Ans.(d)
Sol. TEST SERIES

@ @ English

@ SSCCPO
TIER-II

I.x IL =

Neither conclusion I nor conclusion II follows 10 Full-Length Mocks

$25. Ans.(d) Validity : 12 Months
Sol. [H
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